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Final Exam Spring 2019
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1. Which of the following declarations could be correct in Java (where ... represents some code)? s

(e 35S Jiad Bl &) Eua) Bladl 4ad 3 maaa ey 4091 Gy ol ‘
a) classCextends A,B { ... }
b) interface C implements A, B { ... }
¢) interface C extends A,B { ... } ‘
d) class A {...} class B { ...} class C implements A,B { ... }
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2. Calling a method through Object is known as « wiad Gl (Gash (e 4lla slesin)
a) Message 4l (b) Method header 43l ol si=  (¢) Method signature 4lal) x3 55
(d) All of the above 4siudl U (< ’

3. Consider the following statement which is defined in a class (let's call it class Test). The keyword static: ‘
i private static int serial = 0;

O a) Means that serial is a constant. ‘
b) Ensures that only one instance of serial exists and it will be shared by all objects of type Test.

¢) Means that serial should be capitalized (e:g. SERIAL) to comply with Java.naming conventions.

d) Results in a syntax error because it is missing the keyword final. ‘
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4. Given the following definition of Bird and Chicken, which of the given statements will not compile?

abstract class Bird implements Livestock {}

class Chicken extends Bird {}
a) Bird bird = new Chicken(); ‘
b) Livestock livestock = new Chicken();
¢) Bird bird = new Bird(); i
d) None of these will compile
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5. What type of relationship exists between someMeth in classes A and someMeth in class B?
class A { J
private void someMeth() { -
System.out.println( "from class A" ); } } |
class B extends A { '

public void someMeth( String x ) {

System.out.println( '"from class B: " +x); } } ‘
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i (a) method overriding (b) method overloading (¢) both method overriding and method overloading (d) |
neither method overriding nor method overloading
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¢ |class SuperClass {
| private int x;
i private int y;
2 public SupercClass ()
{x=2; y=3; }
i public SuperCilass (int x, int y)
. { this.x =x; this.y=y; }
public String toString ()

i { return "Numbers are: "+x +"and " +y; }

public int returnSum( )
i { return (x+y); }
}
class SubClass extends SuperClass {
i private int z;

public SubClass()

{ super(); }

i public SubClass(int x, int y)
{ super(x,y); z=4; }

i public int returnSum( )
i { return (super.retumSum() + z); }
}

and the declarations:
| SupcrClass objl = new SuperClass{);
SuperClass obj2 = new SubClass(1, 2):

i What will the following statements display to the screen? () (sl 358 1o 16Uy L) Jaad) G gl
a) System.out.println (objl);

b) System.out.println(obj2);

- ¢) System.out.print("Sum is:" + obj2.returnSum());
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correction.

public class Hobbit extends Actor {

public static constant double MAX_STEALTH = 1@0.0;
private double stealth;

public void Hobbit() {

stealth = MAX_STEALTH / 2.8;
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}
public void setStealth(double stealth) {
stealth = stealth;

public void displayStatus() {
displayStatus();
System.out.printf("

Stealth: %d", stealth);

}

public toString() {

return String.format("%s Stealth:%4.1f",
super.toString(), stealth);

} // end class Hobbit
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Q4. Identify the errors in the following codes and recommend the corrections: Ci rcle each error and suggest a
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public class TestStuff {
public static void main(String[] args) {
Stuff s = new Stuff("in", 5);
System.out.println(s);
double doubleValue = 2.5;
s.doSomething(doubleValue);
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lpublic class Stuff {

private static final int n =
private String string;
private int numj

2; }

public Stuff(String s, int num) { ‘
this.num = num;
string = s;

} I

public void doSomething(double d) {

d=d * num;

System.out.println(this);
‘ |

public double changeSomething(String s) {

System.out.println(doubleValue);
s = new Stuff("more", 3);
String str = "word"; }
System.out.println(s.changeSomething(str));
System.out.println(s);
System.out.println(str);
} }
} i ‘
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s = string;
return n * num;

public String toString() { ‘
return string + " has " + num;

Design UML class diagram and implement java code that can represent Animals system. Animals have two
behaviors; they can speak() and they can move(). By defauli, when an animal moves, the text "This animal 1
moves forward” is displayed. By default, when an animal speaks, the text ”This animal speaks” is displayed.
A general Animal should not be able to be instantiated. Define also two classes, Goose and Lynx that are |
Animals. Both Goose and Lynx behave such that where “animal” is displayed in speak() or move(), "goose” or
“lynx” is displayed by the appropriate classes. Finally, any instance of Goose can fly(), just as any Flying
object can. An Airplane is also a Flying object. Define the Airplane class such that it is Flying and make sure
that any instance of Goose is also flying. Instances of either Goose or Airplane should be using same fly()
method from flying.
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